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Q.1  240                     Q.2    p + q + r = 2    Q.3 (i) n (  = 26 

(ii)  n (  = 35 

(iii) n (A Δ B) = 9 

 

Q.5 PE + PF =                                  Q.6 
100

C3 – (
12

C1 x 
86

C2) = 15500   

 

Q.7 K = 54             Q.8  Pairs are (24, 450), (72, 150), (600, 18), (1800, 6) and  

            (450, 24), (150, 72), (18, 600), (6, 1800) 

    

Q.9 (0, 0), (-1, 0), (1, 0), (0, -1), (2, 1), (-2, 1)      

                                      

Q.10 m  PSR + m  QTR= 90°          Q.11 When n = 35, k =  17        Q.12 (i) f(x)=   

When n = 36,  k =  35                   (ii) f(2) = 
1

4
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